Moto-All.ru

CIIMCOK JOETAJIEU [IJI4 "GEAR CHANGE PEDAL 4902 +" TRIUMPH

TRIDENT

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY [IJ1d "GEAR CHANGE PEDAL 4902 +" TRIUMPH

TRIDENT

[/WWW.OEM.MOTO-ALL.RU/

TEJL.: +7 (495) 177-12-75

1 2080095-T0301 CpOK ITOCTaBKHU OT 27 mHEU GEARCHANGE PEDAL
. G/change Pedal Rubber,
2 T2080932 Cpok mocTaBku 0T 19 gHewn Multipack (5)
2 2080043-T0301 Cpok moctasky ot 27 AHei RUBBER, GEARCHANGE
PEDAL
3 3750005-T0301 Cpok mocTaBku OT 19 gHewn Bush
4 T2085022 Cpok mocTaBku oT 19 nHei Boot, Ball Joint
6 2080045-T0301 Cpok mocTaBK# OT 27 fHeR CLAMP LINKAGE ASSY
7 3200015-T0301 CpoK 1mocTaBku 0T 27 mHeR BOLT M6 X 20
8 T3551602 CpOK ITOCTaBKHU OT 27 mHEU WASHER, THRUST,12X18X1.2
9 3500008-T0301 CpOK IIOCTaBKHU OT 27 gHEeHU CIRCLIP
10 1190260-T0301 CpOK IIOCTaBKH OT 27 gHEeH SHAFT ASSY, GEARCHANGE
. RETURN SPRING,
11 1190160-T0301 CpOK IIOCTaBKH 0T 27 gHEU GEARCHANGE
13 1190170-T0301 CpOK IIOCTaBKH OT 27 gHeH BOLT, SPRING ABUTMENT
14 3100002-T0301 CpOK ITOCTaBKH OT 27 mHEN STUD, M6 X 23
. SPRING, DETENT ARM
15 1190335-T0301 CpOK ITOCTaBKH OT 27 mHEU (GEARS
. SPRING, DETENT ARM
16 1190140-T0301 CpoK mocTaBku 0T 27 gHER (NEUTRAL
17 3550019-T0301 CpOK IIOCTaBKH OT 27 gHEe WASHER M6 HARDENED
18 1190021-T0301 CpOK ITOCTaBKU OT 27 mHEN DETENT ARM, NEUTRAL
19 1190022-T0301 CpOK IIOCTaBKHU OT 27 gHeMU DETENT ARM, GEARS
21 3350008-T0301 CpOK IOCTaBKH OT 27 JHen NUT, M6 X 1




